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If they are released from rest
Find the distance traveled by A after 5s 
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Sol: 
WA – Wc - µWb = ( ma + mb + mb) a
· a = ….
· Distance = …..
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The man stands a distance d from the wall and throws a ball at it with a speed vp. Determine

the angle 6 at which he should release the ball so that i strikes the wall at the highest point
possible. What is this height? The room has a ceiling height /r,

Given:
d=60f
&
vp =50 =
s
h=sh
By =20 %
&
g=3222
§
Solution Guesses  f;=1s =25 @=20deg h=10F
Given d=vgeos(8)r; ngpz +vgsin(6)ey + 1y
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The wrecking ball of mass M is suspended from the crane by a cable having a negligible mass
If the ball has speed v at the instant it is a its lowest point &, determine the tension in the cable
at this instant. Also, determine the angle & to which the ball swings before if stops.

Units Used:

Solution:

At the lowest point

TfMg:M{

At some arbitrary angle

—Mgsin(6) = Ma;

v 0

8
rgsin(6) do

glcos(6) - 1) 6= 433deg





